HERARY AT 2§ RFHEA 4

11 12 12 12 12 12 12 12 12 12
] A A ] ] ] A A A ]
29 2 3 4 5 6 9 10 11 12
p p p p p p p p p p
(1) (-) (=) (=) (z) (I) (-) (= (= (z)
0930 , ,
| 10|20 Mo s | BERE | MkE | BAY | IRE | A | MAoR | Faae | rad | 4%
10 20 ,
2 11!10 4E | 2 ¢ [P | hFs | EgE |32 | AL | s | g8 | B
TT:10
3 12|00 P L | A | Rk | ZRE | BB | BHE | KRG | A BE | 224
12%00 N ,
13:00 | “
T3:00
A Gl | RF0 | ARE (BE2 G| & 5n | S | OB | R | SR E | R | B
T3:50
5 14[40 I | HR¥E | RELS | v EE | M | HRHF | BRpE | B2 | W ;w,]‘ xER
T4:40 ]
6 15|30 ¥ o® | Bt | macky | Mg | SEp | LER | FTE | 234 | RFE | Eic
! 15%30
ph :
1gio0 | FTH
113.11.22 % 5 =xig &+ o (EE E~FT 2 FTEZRAEIH o)




